MEDICAL UNIVERSITY OF WARSAW Summary of Scientific Survey for 2018

GENERAL RANKING

Units with 3 and more Employment Positions in the group of employees qualified for the N number

No.	Code	Name of Unit	Sum of Points	Sum of Job Positions	Effectiveness
1.	1WY	Institute of Medical Genetics	605.6415	5	121.13
2.	2W10	Institute of Regenerative Medicine	553.8991	5	110.78
3.	FW25	Academic Department of Pharmacognosy and Molecular Bases of Phytotherapy	806.7635	8	100.85
4.	1W44	Department of Paediatrics	877.3078	9	97.48
5.	1S7	Institute of Physiology and Experimental Pathophysiology	377.1172	4	94.28
6.	NZD	Institute of Education and Research in Health Sciences	273.9514	3	91.32
7.	1S14	Institute of Mucous Membrane and Periodontium	303.9259	3.63	83.73
8.	1WR	I Academic and Clinical Department of Cardiology	1 691.3424	21.01	80.5
9.	1S6	Department of Children Neurology	267.2791	3.5	76.37
10.	NZO	Department of Psychiatry	275.8266	3.75	73.55
11.	1M19	Institute of Immunology	1 098.7577	15	73.25
12.	1WB2	Hepatology and Internal Medicine Department	300.1253	4.5	66.69
13.	1MG	Institute of Clinical Immunology	398.9737	6.25	63.84
14.	1W21	Department of Immunology, Transplantology and Internal Medicine	406.6005	7	58.09
15.	NZC	Institute of Environmental Prevention and Risks and Allergology	854.9917	14.75	57.97
16.	1M33	Institute of Social Medicine and Public Health	402.0929	7	57.44
17.	1M6	Department of Rehabilitation	242.4167	4.25	57.04
18.	NZJ	Institute of Nursing Development, Social and Medical Sciences	335.8618	6	55.98
19.	1WP	Academic and Clinical Department of Haematology, Oncology and Internal Medicine	636.9405	11.5	55.39
20.	1W22	Department of Transplant Medicine, Nephrology and Internal Medicine	402.5300	7.5	53.67
21.	1S13	Department of Internal Medicine and Cardiology with a Centre of Venous Thromboembolism Diagnostics and Treatment	402.1943	7.5	53.63
22.	FW21	Institute of Pharmaceutical Biology and Medicinal Plants Biotechnology	202.6367	4	50.66
23.	2WC	II Department of Psychiatry	252.6500	5	50.53
24.	1M24	Institute of Immunopathology, Infectious and Parasitic Diseases	245.4214	5	49.08
25.	1WO	Department of Diabetology and Internal Medicine	146.4999	3	48.83
26.	1WX	Institute of Genomic Medicine	193.2679	4	48.32
27.	1WW	Institute of Developmental Age Laboratory Diagnostics and Clinical Immunology	193.5157	4.1	47.2
28.	NZP	Department of Neurology of the Health Sciences Faculty	136.1421	3	45.38

No.	Code	Name of Unit	Sum of Points	Sum of Job Positions	Effectiveness
29.	2W5	III Department of Internal Medicine i Cardiology	244.1419	5.5	44.39
30.	1S5	Department of Dermatology and Immunodermatology	186.0055	4.5	41.33
31.	1S17	Institute of Children Stomatology	121.7669	3	40.59
32.	1MF	Institute of Medical Informatics and Telemedicine	160.5933	4	40.15
33.	1WU	Academic and Clinical Department of Internal Medicine, Pulmonology and Allergology	801.5803	20	40.08
34.	1W63	Department of Neonatology and Neonatal Intensive Care	160.2500	4	40.06
35.	1W51	I Department of Obstetrics and Gynaecology	569.5195	14.5	39.28
36.	FW113	Institute of Biochemistry and Pharmacogenomics	293.5872	7.5	39.14
37.	1W34	Department of Children Pulmonology and Allergology	422.2370	11	38.39
38.	1WB1	Department of General, Transplant and Liver Surgery	573.4258	15	38.23
39.	2M4	Department Infectious Diseases for Adults	342.8051	9	38.09
40.	1M4	Academic and Clinical Department of Dermatology	376.1124	9.93	37.88
41.	1M7	Academic and Clinical Department of General, Oncological and Functional Urology	292.1780	8	36.52
42.	FW232	Institute of Analytical Chemistry	182.1373	5	36.43
43.	FW13	Institute of Applied Toxicology	181.1870	5	36.24
44.	2WE	Department of Neurology	176.6303	5	35.33
45.	FW3	Institute of Pharmacodynamics and Pathophysiology	260.1566	7.38	35.25
46.	1WH	Department of Paediatrics and Endocrinology	240.9799	7	34.43
47.	1WG	Academic and Clinical Department of Paediatrics, Haematology and Oncology	292.4246	8.5	34.4
48.	FW231	Institute of Biomaterials Chemistry	167.8895	5	33.58
49.	NZN	Institute of Clinical Nursing	100.0975	3	33.37
50.	1WM	Academic and Clinical Department of Nephrology, Dialysis and Internal Medicine	531.5354	16	33.22
51.	2M7	Developmental Age Psychiatry Department	264.9250	8.13	32.59
52.	FW14	Institute of Environmental Studies	128.9872	4	32.25
53.	FW12	Institute of Food Science	175.1524	5.5	31.85
54.	1S2	Department of Otorhinolaryngology	104.9783	3.4	30.88
55.	1WC	Academic and Clinical Department of Neurology	485.5554	16.5	29.43
56.	1W11	I Institute of Clinical Radiology	115.1987	4	28.8
57.	2WH	Institute of Imaging Diagnostics	127.4403	4.5	28.32
58.	FW7	Institute of Clinical Pharmacy and Pharmaceutical Care	148.3334	5.5	26.97
59.	1WF	Academic and Clinical Department of Othorinolaryngology	519.1151	19.5	26.62
60.	2M2	Academic Department and Institute of General and Experimental Pathology	165.1603	6.25	26.43
61.	1M14A	Institute General Biology and Parasitology	210.9763	8	26.37
62.	FW24	Institute of Organic Chemistry	128.9277	5	25.79

Beata Przybyło, Department of Science 2019-09-16

No.	Code	Name of Unit	Sum of Points	Sum of Job Positions	Effectiveness
63.	2MC	Institute of Medical Ethics and Palliative Medicine	103.0262	4	25.76
64.	FW114	Institute of Clinical Chemistry and Laboratory Diagnostics	126.5937	5	25.32
65.	1M9	Academic Department and Institute of Experimental and Clinical Pharmacology	405.0585	16.25	24.93
66.	1MA	Academic Department and Institute of Experimental and Clinical Physiology	353.4969	14.75	23.97
67.	1W13	Institute of Nuclear Medicine	186.4814	8	23.31
68.	1M15	Academic Department and Institute of Histology and Embryology	392.0013	17	23.06
69.	1S15	Institute of Orthodontics	242.0013	10.63	22.77
70.	1WJ	Academic and Clinical Department Psychiatry	339.7636	15	22.65
71.	1S4	Institute of Dental Microbiology	66.5275	3	22.18
72.	NZI	Institute of Medical Biology	109.5780	5	21.92
73.	FW5	Institute of Human Physiology and Pathophysiology	64.3171	3	21.44
74.	NZB	Institute of Public Health	168.3809	8	21.05
75.	1W23	Academic and Clinical Department of General and Transplant Surgery	210.1207	10	21.01
76.	1W33	Department of Gastroenterology and Children Nutrition	214.5395	10.25	20.93
77.	NZV	Institute of Clinical Dietetics	101.9006	5	20.38
78.	NZG	Institute of Gynaecology and Obstetrics Didactics	121.7647	6	20.29
79.	1M5	Department of Neurosurgery	121.4543	6	20.24
80.	FW28	Institute of Physical Chemistry	232.2420	11.5	20.19
81.	2W63	Institute of Sports Cardiology and Non-invasive Cardiology Diagnostics	58.6533	3	19.55
82.	NZT	Institute of Immunology, Biochemistry and Nutrition	77.1429	4	19.29
83.	FW27	Institute of Bioanalytics and Medicinal Analysis	93.4696	5	18.69
84.	1M20	Academic Department and Institute of Medical Microbiology	241.3643	13.25	18.22
85.	1WN	Academic and Clinical Department Internal Medicine and Endocrinology	144.1563	8	18.02
86.	1WK	Academic Department and Institute of Biochemistry	302.7542	17	17.81
87.	1WD	Academic and Clinical Department of Ophthalmology of the 1st Faculty of Medicine	92.4357	5.5	16.81
88.	1WT	Department of Children Otolaryngology	65.4762	4	16.37
89.	1MN	Institute of Scientific Research Methodology	47.1889	3	15.73
90.	NZS	Institute of Surgical, Transplant and Extracorporeal Treatment Nursing	67.7535	4.5	15.06
91.	1MB	Institute of Forensic Medicine	134.6281	9	14.96
92.	1WI	Academic and Clinical Department of Paediatrics and Nephrology	119.4562	8	14.93
93.	FW15	Institute of Pharmaceutical Microbiology	71.0613	5	14.21
94.	1MH	Academic Department and Institute of General Medicine	84.7084	6	14.12
95.	NZM	Institute of Nephrological Nursing	41.8028	3	13.93
96.	1S18	Institute of Restorative Dentistry	108.1286	8.25	13.11

Beata Przybyło, Department of Science

No.	Code	Name of Unit	Sum of Points	Sum of Job Positions	Effectiveness
97.	2M12	Institute of Diagnostics of Sexually Transmitted Diseases	38.6515	3	12.88
98.	FW26	Academic Department of Medicinal Technology and Pharmaceutical Biotechnology	107.1815	8.63	12.42
99.	1W8	Academic and Clinical Department of General, Gastroenterological and Oncological Surgery	85.8170	7	12.26
100.	1M11	Academic Department and Institute of Pathomorphology	166.2278	14	11.87
101.	2WA	Academic and Clinical Department of Obstetrics, Female Diseases and Oncological Gynaecology	126.5892	10.75	11.78
102.	1W12	II Institute of Clinical Radiology	79.3706	7	11.34
103.	1WE	Academic and Clinical Department of Orthopaedics and Motor Organ Traumatology	128.6448	11.5	11.19
104.	2W6	Academic and Clinical Department of Cardiology, Hypertension and Internal Medicine	55.9039	5	11.18
105.	1S113	Institute of Dental Surgery	93.9735	8.75	10.74
106.	1M12	Institute of Normal and Clinical Anatomy	208.2586	19.5	10.68
107.	FW4	Institute of Pharmaceutical Law and Pharmacogenomics	39.9167	3.75	10.64
108.	1W9	Academic and Clinical Department of General, Vascular and Transplant Surgery	65.5109	6.5	10.08
109.	2M5	Department of Children Infectious Diseases	85.0411	9	9.45
110.	2WF	Academic and Clinical Department of Ophthalmology of 2 nd Faculty of Medicine	74.9583	8	9.37
111.	NZME	Institute of Biophysics and Human Physiology	45.9453	5	9.19
112.	2W13	Institute of Biochemistry	27.3475	3	9.12
113.	2M6	Department of Developmental Age Cardiology and General Paediatrics	66.5427	8	8.32
114.	1M17	Institute of Transplantology and Central Tissue Bank	56.0568	7	8.01
115.	1S31	Institute of Integrated Dentistry	23.5476	3	7.85
116.	2W2	II Academic and Clinical Department of General, Vascular and Oncological Surgery	43.8222	6	7.3
117.	1WS	Academic and Clinical Department of Internal Medicine, Hypertension and Angiology	104.2569	14.5	7.19
118.	1S112	Department of Cranio and Maxillofacial Surgery, Oral Surgery and Implantology	50.0334	7	7.15
119.	1WZ	Department of Gastroenterology and Internal Diseases	28.6012	4	7.15
120.	2F1	Institute of Rehabilitation	93.6646	13.75	6.81
121.	1M22	Department Infectious and Tropical Diseases and Hepatology	56.0133	8.25	6.79
122.	1S12	Academic Department of Prosthodontics	84.7649	12.5	6.78
123.	1MC1	I Department of Anaesthesiology and Intensive Care	45.0890	7	6.44
124.	2W11	Department of Oncology	18.0000	3	6
125.	1W61	II Department of Obstetrics and Gynaecology	54.8984	9.25	5.93
126.	1WA	Department of General and Endocrinological Surgery and Vascular Diseases	49.6187	8.5	5.84
127.	1MR	Institute of Emergency Medicine	26.7255	5.5	4.86
128.	FW29	Institute of Applied Pharmacy	18.3096	5	3.66
129.	2MB	Institute of Medical Psychology and Communication	36.4154	11	3.31
130.	2W3	Department of Children Cardiosurgery and General Surgery	19.3568	6	3.23

Beata Przybyło, Department of Science 2019-09-16

No.	Code	Name of Unit	Sum of Points	Sum of Job Positions	Effectiveness
131.	1MC2	II Department of Anaesthesiology and Intensive Care	16.6827	7.5	2.22
132.	1W7	Department of Children Surgery	15.1667	7	2.17
133.	2W1	I Academic and Clinical Department of General and Vascular Surgery	16.0650	7.5	2.14
134.	2WG	Department of Orthopaedics and Rehabilitation	11.7089	6	1.95
135.	FW22	Institute of Medicinal Chemistry	5.0000	5	1
136.	2W4	Academic and Clinical Department of Internal Medicine and Diabetology	2.7500	6	0.46
137.	1MC3	Department of Children Anaesthesiology and Intensive Care	0.0000	4.75	0
		TOTAL	29 818.5206	1 031.5900	28.91

Beata Przybyło, Department of Science 2019-09-16